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PART-B
1. Signature of invigilator on answer booklet is compulsory.

2. All answers to the questions IV, V and VI should be written
onappropriate pages only.

Q V. Answer any five (5) of the following questions 5 x 2 mark = 10
1. Characteristics of lawn grass

Write down four important lawn grass names suitable in Indian

condition

Write down four heavy climber names with their flower colour

Define rhythm and its role in garden

Uses of shrubs in landscape

Garden elements

Write down four famous gardenname in India
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Q VI. Answer any five (5) of the following questions5 x 3 mark = 15
Differentiate between hedge and edge

Propagation of fern

Classification of climbers

Differentiate between cacti and succulent

Write short note on garden adornments

Features of Mughal garden

Types of garden
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Answer any five (5) of the following questions5 x 3 mark = 15
Briefly discuss about the planting of lawn
Enumerate the different training methods of bonsai
Give a brief account on principles of garden
Discuss briefly about the flower arrangement, its principles and
types
Briefly explain about the dry flower technique
Discuss about the types and features of Japanese garden
7. Explain about the industrial importance of ornamental plants.
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%, 5. fassia nodosa bears ........
a

j} 6. Which of the following is a fine texture tree

Final examination: Set A

FLA-102(1+1): Ornamental Horticulture
Date & time of Exam: 26.10.2023 (10:30 ~12:30)

Name of the Student ........ccccoevvviniennn, 1D N&: HHS22UG: ez
Eellege of Horti Cultire; wss iw: s o semonsnines College Code.............

Instructions to the Students:

Total marks: 50 (Part- A: 20 marks and Part- B: 30 marks)
Part - A Question paper:Answer within 30 min.

All answers should be written only in OMR Sheet.

Write the Correct Part-A Question paper Set Code in OMR sheet.
Get the signature of the invigilator on your Part- A QP.

Part- A

Q.. Select the most correct answer A/B/C/D for the following
questions. 20 x 0.5 mark = 10 Marks

B 1. Which of the fo/%owmg is a winter annual
P

a. Cosmos . Pansy c. Gaillardia d.None

Pr 2. hich of the following is the quickest method of lawn planting

. Turfing b. Turfplastering  c.Seeding d. All of the
bove
P\( ich of the following is known as club moss

Sellagineela  b. Cactus c. Succulent  d. None.

J> 4. Tree suitable for screening purpose is

a. Grevillea robusta . Polyalthia longifolia
c. Polyalthia pendulavd. All
colour flowers during April-May
Pink b. Blue c. White d. Yellow
a. Coral tree b. Kanak Champa c.Cassia d. Silver oak
7. When shrubs are planted at regular interval to form a thick
B screen is known

a. Topiary . Hedge c. Edge d. Shrubbery
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